Fax

Web

Road Transport Department of Malaysia (JPJ)
Automotive Engineering Division,

Level 4, No.26,

Tun Hussein Road, Precinct 4,

Federal Government Administrative Office,
62100 Putrajaya, Malaysia.

Office :
: +603 - 8881 1085
Email :

+603 - 8892 8107

ka.hg@jpj.gov.my

. WWW.jpj.gov.my

THE MALAYSIAN TYPE APPROVAL AUTHORITY

COMMUNICATION CONCERNING

- APPROVAL GRANTED

OF A SEAT TYPE OR TYPES WITH REGARD TO ITS (THEIR)
STRENGTH PURSUANT TO REGULATION NUMBER 80

Approval number: E52*80R03/03*0014*00

1.

2.

5.1.

Trade name or mark of the seat
Seat type

Manufacturer's name and
address

If applicable, name and address
of the manufacturer’s
representative

Additional information

Brief description of the seat
type, its attachment fittings and
its adjustment, displacement
and locking systems including
the minimum distance between
fitting points

Road Transport Department of Malaysia

Page 1 of 3

: DAMRONGSILP
- ELITA 550 SINGLE

: Damrongsilp Supplies Co., Ltd.

95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110,
Thailand

. Not applicable

: Drawing 1

: N
our ref : JPJ. /600-3/3/28 JLD. 3 @0//

QP N
dpproval



Approval number: E52*80R03/03*0014*00

5.2.

5.3.

5.4.

5.5.

5.6.

5.6.1.

5.6.2.

5.6.3.

5.6.4.

5.7.

5.8.

5.9.

Position and arrangement of
seats

Seats, if any, which incorporate
a safety belt anchorage

Energy absorption test of the
rear part of the seat-back

Drawings showing the area of
the rear part of the seat-back
verified for energy dissipation
Seat approved in accordance
with paragraph 5.1. of this
Regulation (dynamic test)

Test 1 according to Appendix 1
Test 2 according to Appendix 1
Description of the safety-belts
and anchorages used for the
purpose of Test 2

Type of auxiliary seat used for
test 2 (if different from the type
of seat approved)

Seat approved in accordance
with paragraph 5.1. of this
Regulation (static test)

Test according to Appendix 5
Test according to Appendix 6
Seat submitted for approval on

Type of device

Technical Service, responsible
for the approval test

Road Transport Department of Malaysia

Page 2 of 3

. Single Seat facing forward
. Single Seat
- Yes/Ne

. Drawing 1d
- ¥es/No

: ¥es/ No
: ¥es/ No

- Not applicable
: Not applicable
- Yes/Ne

- Yes/Ne

- ¥es/ No

- 23" November 2019
: Not applicable

: TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103,
Metropolitan Business Park,
Seksyen U8, Bukit Jelutong

Malaysia.




Approval number: E52*80R03/03*0014*00

10.

11.

12.

13.

14.

15.

16.

Road Transport Department of Malaysia

Date of report issued by that : 14" June 2020
Service

Number of report issued by that : 93-R80-01915-ELITA550SGL/20
Service

Approval . granted/extended/refused/withdrawn
Position of approval mark on . On the seat fabric, beside the head rest
seat area .
Place . Putrajaya, Malaysia.

Date 17" July 2020

Signature

Automotive Efgineering Division

The following documenits, - Not applicable
bearing the approval number

shown above, are available on

request

Page 3 of 3




TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20 o
TUVRheinland

Type : ELITA 550 SINGLE ,
Manufacturer : Damrongsilp Supplies Co., Ltd.

TEST REPORT
according to UNECE-Regulation
Uniform provisions concerning the approval of seats
of large passenger vehicles and of these vehicles

with regard to the strength of the seats
and their anchorages

UNECE R80

including all amendments until

series of amendments: 03
Supplement 03

Previously granted

UNECE - certificate : —

General information

Tested vehicle(s) / object(s)
Test record

List of Appendices
Statement of conformity

Structure of report

pPODd~O

The Test Report shall be reproduced and published in full by the client only. It shall ho
partially with the written permission of the Technical Service only.

TOV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 1
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20 A
TUVRheinland

Type : ELITA 550 SINGLE
Manufacturer Damrongsilp Supplies Co., Ltd.

0. General information

0.1. Make (trade name of the manufacturer)
0.2. Seat Type (Variant)
0.3. Seat for vehicle category

0.4. Name and address of the manufacturer

0.5. No. of the information folder
date of issue
date of last amendment
. Tested vehicle(s) / object(s)
1.1 Description
Vehicle / object
Commercial description
Type(s) / variant(s) / versien{s)
Identification number
Condition of vehiele{s} / Object(s)

1.2. Worst case

1.3. Remarks

DAMRONGSILP

ELITA 550 SINGLE (RH, LH)

M3

Damrongsilp Supplies Co., Ltd.

95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110, Thailand

UNECE R80-ELITA 550 SINGLE
October 23, 2019

Large Passenger Seat
DAMRONGSILP
ELITA 550 SINGLE (RH)

PAS0190

new, used—pretested

. The determination of worst case scenario was done

according to QMA 1.301.005, section 6.2.2.2.

Variant RH is symmetrical with LH
Test for variant RH covers for LH

TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel:

+60 3 7455 3000

Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20

Type
Manufacturer

ELITA 550 SINGLE
Damrongsilp Supplies Co., Ltd.

. ®
TUVRheinland

2. Test record

2.1. Equipment for measuring and
testing

2.1.1. Specifications for the test site

2.1.2 Subcontracting

22 Test results

2.21 Testresults refering to measurements

2.2.2 Attributive tests

2.2.3 Alternative test provisions
Remarks concerning extension

2.2.4. General requirements for all seats

2.2.5. Adjustment and displacement devices

2.2.6. Retention of the user by the seat in front

2.2.7. Risk of injury

2.2.8. Resistance of the seat and the seat
fixations

2.2.9. Constitution of the backrest and the
accessories

The test facilities / measurement equipment used
were in compliance with the test requirements

Damrongsilp Supplies Co. Ltd Laboratory

Not applicable

See Appendix 1

Test was done according to UN ECE Regulation
No. 80.03, Clause 5.1 Appendix 5 and 6 (static
test).

The strength tests were only performed for vehicle
category M3.

Not applicable
Not applicable

The seat type is in compliance with the
requirements of the regulation.

The seat type is in compliance with the
requirements of the regulation.

Not applicable

The seat type is in compliance with the
requirements of the regulation.
See Appendix 1.

The seat type is in compliance with the
requirements of the regulation.

No parts of seat, seat fixation or, accessories

a) dissolved completely

b) formed sharp edges or fractures which can
cause personal injury

c) abandon their locked positior.

the prevention of injury.

No sharp edges occurred du

r% or after the testing
& o
L . D
& P
APprova\

TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel:
Metropolitan Business Park, Fax:

+60 3 7455 3000
+60 3 7859 8020

Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.

Page 3



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20

. ®
TUVRheinland
Type : ELITA 550 SINGLE
Manufacturer : Damrongsilp Supplies Co., Ltd.
2.3. Additional information . The results of the test refer exclusively to the

object(s) mentioned under point 1. of this report.

Test site . Damrongsilp Supplies Co. Ltd Laboratory
Test date : November 23, 2019
2.4. Remarks : Not applicable

3. List of Appendices

Appendix 0 : List of modifications

Appendix 1 : Test record static testing

4. Statement of conformity

The information folder mentioned under point 0.5 and the type described therein complies with the
requirements in the above-mentioned on page 1.

With regard to the required level of performance to be achieved, the tested samples were
representative for the type to be approved.

The tests were carried out in accordance with the relevant requirements of EN ISO/IEC 17025:2005
or EN ISO/IEC 17020:2012.

Shah Alam, June 14, 2020

VN

Manfred Lottig

TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 4
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20

- ®
TUVRheinland
Type ELITA 550 SINGLE
Manufacturer Damrongsilp Supplies Co., Ltd.
List of modifications Appendix 0

Correction of

Modification of

Addition of

Deletion of

TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103,

Metropolitan Business Park,
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.

Tel:
Fax:

+60 3 7455 3000
+60 3 7859 8020



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550SGL/20

. ®
TUVRheinland
Type ELITA 550 SINGLE
Manufacturer Damrongsilp Supplies Co., Ltd.
Test record static seat tests Appendix 1
Seat type series
. Height of test rig [mm] Forward movement [mm)]
Test no Test object / CR CL Remarks
’ Seat type H1 H2
s1 s2 s1 s2
1 ELITA 550 750 500 218.00 - - - OK
SINGLE 750 500 - 148.00 - - OK
Remark: CR = corridorside right
CL = corridorside left
Displacement requirements:
Location Min (mm) Max (mm)
s1 100 400
s2 50 -
TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 6
Metropolitan Business Park, Fax: +60 3 7859 8020

Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



UNECE R80-ELITA 550 SINGLE

APPLICATION FOR APPROVAL

TYPE: ELITA 550 SINGLE

SEATS (LARGE PASSENGER VEHICLE)

APPLICABLE REGULATION: UNECE R80.03

APPLICATION HISTORY

Document Ref. No Issue Date Explanation Approval No. Approval Date
of update

UNECE R80-ELITA 23/10/2019 Original
550 SINGLE




GENERAL

1.0 Trade name or mark of the seat

2.0 Seat Type

2.1 Seat Variant

2.2 Loaction of Seat marking

4.0 Manufacturer’s name and address

5.0 If applicable, name and address of the
manufacturer’s representative

6.0 Additional Information

6.1 Brief description of the seat type, its
attachment fittings and its adjustment,
displacement and locking systems including
the minimum distance between fitting points

6.2 Position and arrangement of seats

6.3 Seats, if any, which incorporate a safety belt
anchorage

6.4 Energy absorption test of the rear part of
the seat-back

6.5 Drawing showing the area of the rear part of
the seat-back verified for energy dissipation

6.6 Seat approved in accordance with paragraph
5.1. of this Regulation (dynamic test)

6.6.1  Test 1 according to Appendix 1

6.6.2  Test 2 according to Appendix 1

6.6.3  Description of the safety-belts and achorages
used for the purpose of test 2

6.6.4  Type of auxiliary seat used for test 2 (if
different from the type of seat approved)

6.7 Seat approved in accordance with
paragraph 5.1. of this Regulation
(static test)

6.8 Test according to Appendix 5

6.9 Test according to Appendix 6

7.0 Seat submitted for approval on

8.0 Type of device

UNECE R80-ELITA 550 SINGLE

DAMRONGSILP
ELITA 550 SINGLE

Variant Model code

ELITA 550 SINGLE RH PAS0190

ELITA 550 SINGLE LH PAS0191

Drawing no.2

Damrongsilp Supplies Co., Ltd.

95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110, Thailand
Not applicable

Drawing 1

Single Seat facing forward

Single Seat

Yes

Drawing 1d

No

No
No

Not applicable

Not applicable

Yes

Yes

No

Y

Static pulling device




UNECE R80-ELITA 550 SINGLE

Drawing 1 — Seat Drawing(s)

BOLT M8X1.25X40

WASHER NUT M8

BOLT M10X1.5X40

T=15
I=5

Tz
N
N
N
N
N

THREAD M10
20 / i
N & STEEL 40X40X4

* T
V | s,
|
lﬁ _, 25 F
* ol H-POINT
8
i [ ¥
| L
] ‘
- g _
; [ 2 DATM |,
| Y=Q
| e
1
o hL T e
] —jAsseMBLY. sheemy |
e e i PASO190{RH)
A ! o PASO191(LH)
. {5 a— )
s - M ! | w13 3
A | | et
I S | - I
S P Iu_!~’a.lli.LlleTli. __-.l.lT!a.

T T T T T O T T T T

YAECE DWGIELITA SGL
TEIE IV 40 DaT3 AN

Page | 2



UNECE R80-ELITA 550 SINGLE

DWG. 1a - Seat adjustment System (if applicable)

%
i L 1 1 5 1 3 1 3 1 i 1 i £ \WI
NO. PART / RIAL | THICKNESS —
1 DIEPARTRH | |7 ) S
RECLINER ASSY- RH 2 | RECLINER BASE PART RI*PAE STe25 | o
™ 3 DIE PART LH \ [ —T=3 &
1 4 RECLINERBASEPARTLH \|[ spHC =25 <
| - "
)
L Z/Qb
- 3
b m !al.%.l 4
.
M :
— i f ™
o o m
= e y
@T € s
T Im_ 1 (O oeeartrn
F gl
- b - -
SECTION GG
SCALE §:4
t
3 1 3
| ] [ASSEMBLY|  reomcrmman |
H e
v o PA3-8607 (RH)
szcnowss flfﬁm[.j 1 e i 1l PA1-8610 (LH}
[ =Fe=r T
| NOTE ] F: N @ A
-THE RECLINER SITOW FOR RH SEAT AND LH SEAT IS SYMETRICAL s | B - AR -2
- — won | o | n [ oon] e | | o =™
¥+ ECE DWGELITA DBLIELITA TUVEASSY ELITA DBL SEAT ECEASSY, ' T T ’ T 3 ! * !

PRI 2TV TR TN

Page | 3



UNECE R80-ELITA 550 SINGLE

DWG. 1b — Seat padding

. SECTION A-A

!

s

\

s

P

.

L

!

510 &

YAECE Q%Qhr—«) Ow...br:r TUVE'Cushion vc!.s Emat

ASSEMBLY|  Custuon Fosen 3% + oos
s M-ﬁ. [ o
=l
T FO0149 B
Vi — ]
/Y ot
T il b B S Bl saudid _fl‘z TTJ_

T
P A DT

Page | 4



UNECE R80-ELITA 550 SINGLE

DWG. 1c — Seat frame

i 1 1 1 1 1 b 1 i
ITEM NO PART NUMBER DESCRIPTION
1 PB0022 Lathe Part #1-3Lathe Part #13
prop 2 PBS0001 Lathe Part XUNF 7/16
3 PIs276 Square pipe 323220
184« ] PIS277 Square ppe 323220
138 .3 5 PI6541 Bending Part T1.5
143) ki G PI6753 Square pipe 1X1x2.0250
= . - ) 7 PIS754 Square pips 1x1x2.0x66 LH
— ) 3 PI7053 Sieel Sheet 3.0 mm
- s — 9 PI7301 Square pipe 1x1x2.0x66 RH
10 PIS0106 Squars pipe 32x32:2.0 mm
I o & 1 PPOOT1 Laser Paat T4
g 12 PPO3ZT Bending Pa T4
- 2 13 PP1063 Bending Pan T4
2 3 8 " PP3243 BENDING PART T4
- =) 15 PPS0193 BENDING PART T5
4 H 16 PPS0184 BENDING PART T5
— € |? 17 SWoo41 Nt M10X1.5 (Black)
g : 18 SW013 Tt ME1 1716 UNF)
| ] oo
?
| 20
260 11
475 o
447 ..

| A ——ASSEMBLY| A cosmonbase ramossct |
T PAS1-0339
Y — - {2 i ——
| Y e
3 B — I ) = e = [=sfar

YAECE DWGELITASGL | ! T 7 T T T T T Y T
o PR BEV M AT NS

Page | 5



UNECE R80-ELITA 550 SINGLE

E.zo‘ ART NUMBER] __ DESCRIPTION ICKIESS
1 PI6488 STEEL SHEETT3 | 1 Ts3
—— ']I"E/ 2 Pi6489 STEELSHEETTS | 1 \[ S T=3
.. — 3 PI6490 STEELSHEETTIS | 1 Y\ sPHc [ 18T -
[ (e B
o ] i
ﬁll -,.I!‘Qil:l‘.rj!d._l'
- b i —
§ J\
m
1 | H
% ™
b4 EH
2
1 o
. "
i
i
|
L. O3> — T i
(280)
e (320)
! \ - - ' -, -
[ © O # hY O Q
// - QOQ 6(‘ o
V4 kY
_ { 280) — ASSEMBLY Auay Log RN L
1! 1 T T} -
e 5 PA1-8369
e I i
4 —
RGEA 2
- — | o | on Joe] e | o] e e [m s 7T
YAECE DWGELTA DBLELTR TUvEASSY ELTA DBL SEAT ECEASSY $ T > | ’ ! E 3 1 :

KRS BV R SaTTRwN

W

Approval
Page | 6

&,é



UNECE R80-ELITA 550 SINGLE

DWG. 1d — Seat back

o
£
=
(=]}
=
]
+:
© |
< |
a|
Z
L |
D_
=
\
\
ﬂ |
— \ 1 T —
' MX \ [ R i v ]
A ] LY 1L 1] i ]
_,.«_, M\w\ \ UBLES T !
i TR OR A
+ e ;
+ o i R e ERG:

:{I
*\",
g/
j}

A
_.i_
=
7
|
—t

L
==
}

Tee]

s e
I 1
s Wil
=
Pe i
H , i

i f$”

ST

g}y
ﬂ | u——v il

2=

| i

i

| :
ik

, ,m

dddd444-
L

¥ \eCt OWGELITA DB LT TWEBEY BAGRREST £0E

(DENSITY 46+3kg/m’

P

)

\

Nz \ 1]
o

1O

:

0/

T 7/: :

(s70)

(]

ST

e

AR TN NE Y
S —— T
Ay

T

vt olGELTA DR TR TVERaEY BACHREST Eop

Page | 7



UNECE R80-ELITA 550 SINGLE

i ke 1 1 = 1 ) 1 1 1 1 1 1
JEM NOJPART NUMBER] —_DESCRIPTION | QY. Matanl [ TwCrazss
1 [peosrs LATHE PART 0025 4 [ssen | o4
| 2 |pisse0 SOUARE PIPI 25X12.7X12 | 1 | 55400 | Y=12
3 |pwers BEDING PART T3 1 [ssew| Ja
4 Jpwrr PIPE OD25-BACKREST | + | ssao0 | @25
5 |perao STEEL ANGLE T4 [ T )
. PI6T40 LASER PART T4 4 |ssao0 | 1
i (535) PI7039 STEEL SHEET 80X50X1.8 | 4 [ 58400 Ta1d
R Pi7185 [usrnin Rrvwne 100x100x1 2 | sS40 =18
. [ Pis418 SQUARE PIPE 25X25%2 | + | 56400 | =2
/ I I™ i T [ 0 LASER PART T1.§ 1 |eeas | Teis
y ——— \X 3 il = 1 |pwesss SOUARE PG 25%X25%2 | 2 | sseo0 |  7e2
p r { = — e g"u 2 |ppasos BENDING PART-T4 G sene | ve e
| f 1) ' i 13 [swo100 NUT M117/6UNE T )
7| i | 14 s WIRE 0D4 2_| sse00 @4
& i 15 WIRE 0D4 2 | swm [
[

b
=B

=
C

__.,.
—
-

P

|

4 4 | L
1 9 —
1 3L
CERR | 3
3 &
T <
B |
i Y L
448,
9 4
1 . ASSEMBLY| Assy macksssirmme in
L -
— 1 taa{  PA1-10778
A o 7 a— i
- — 3 I e
e 1] |t
¥ R [ 0 [T~ 75 £ ) T — U T R
(L OWGELITA DBLELITK TVEWSS Y BACRRESY £CEY T T T T T + T y T T T
— i S
i 1 1 1 i 1 i 1 [y 1 1 1 1 i
NOJPART NUMEER] _ DESCRIPTION GV Materio [ TrecHoess
1 =) TATHEPARTOD2S | 4 | s3e0| @254
, 2 |pissso SOUARE P®1 25X127X52 | 1 | 88400 | ¥at2
3 |pisers BEDIG PART T3 1 [ses0]| T3 |
+_ lpierar PIPE OD2SBACKREST | 1 | & 025
s Jperse STEEL ANGLE T4 1 [sse0| 1m
. & |pita LASER PART T4 < [ssw0| 1=
4 (s3s) 7 pese 'STEEL SHEET 80X80X16 | 4 a1
s Jpiriss mbrwss 100x150c1Emm] 2 | 85400 | Te18
s [piense SOUARE POE 25GSX2 | 1 | s8M00 | a2
10 |pisAte LASER PART T1.5 s ssaon| Tais
Tt |piesss SQUARE PPE 28X26X2 | 2 | Ssa0|  Taz
| 2 [PP2ooa BENDING PART.T4 s Jemmc | T |
13 100 NUT M11 T/1BUNE 7 [sswo| 0
5 T ) 2 [eswo| &4
18 WIRE OD4 2 [owu | o4

395
S
|

255w
19832
L
i
-+
v
T

v wce ObGELTA DILELTR vEASSY BACRES TRCET |




UNECE R80-ELITA 550 SINGLE

DWG. 1e — Seat re-inforcements

THICKNESS]

>

o
z
i~}

PART

1 L STEEL 40x40:3 —Ted
2 STEEL O50x50x3 =3
3 WASHER M10 T2
= 4 WOOD T15 _I=13
\—\-.. s BOLT M8x1.25x40 -
\ ) 6 WASHER M8 T2
E ] DETAR :0 7 WASHER NUT M8 T=2\
[ BOLT M10x1.5x40 —————
s PLATE STEEL Fe5

DETAIL - E ;

il

. v S -
=y i

@WOooD T15

(L STEEL 40X40X4
280 o
- —(5) BOLT MBx1.25x40 :
—— : _ \
R R T T AR i .. e ..._
—— ll_“!:,!rlinﬂ (@ STEEL [150X50%3—
DETAR.C. “_
v 9! [ (&) WASHER M8
@soLT onemx»ol/// ol & _.\n |
ud
) f 3 1 ] 07 , ~() L STEEL 40X40X4
1 (3) WASHER M10— f K1 N7, 7 \\\
y 7 _\ ZA7X7777777
w
|

N
\ ;
\
R

(7) waASHER NUT M8

N
\
N
N
N
Q
\
\

3
/

i
"
|

TASSEMBLY|  ELmassoEce soLin

| DETALE 1 S M“.tlk |
< A THREAD 1410 ! il o PAS0191
T) L STEEL 40X40X4 - {1 g 200
@ e 5 ..xxl_w@.m< T P |

ii————————

_ — TR L

Py S— T 3=
- — QTL.:I.._;;!_.‘TI_ [==F
. H@.Bglvbﬂlgh

—
>
—

Y30k DVGELTASGLL |

Page | 9




UNECE R80-ELITA 550 SINGLE

DWG. 1g — H-Point

25 +10

H-POINT

o
pr!
o o
{p)
N i
: DATUM
X=
Y=
Z=0




UNECE R80-ELITA 550 SINGLE

DWG. 2 - Seatbelt Assemblies

I I I | [ | IT I I I I ! | I
. T ,ﬁ!i T B
{ '
- ~
[ B
/ 4
%\ /
& \ ” L&
. €
7
]
{ R
p\ll % 1
i1
il
| T
Pagepipeinas 0
. OEesopn. LIRLECSHITALN $0b1 oufx L o '
5
¥
#es =
TRERLASREARNTR B WS-, itae. RHY. 03 Bl L. -
BRI N0, GALSS bamine - -
IPEARE ALER ¥ AL o
AR AXEREANES. pany - B
£, LANSEESNEENS, I -
wa | w | e o
ERENLBRARKE. BERLAEIANERASARIIEINTAIN 4=1
L3 34, BERGRASIIE-M0E-0, SEREBRANAN IS o = Ld
g o
Frav -
QD O ravurnt axtssr. -aan e loe| RS i
Pt I B Adatore Sest ok W e 3
waty o - s Jed]
v . ine PA1-10223 () O
TALE [+ s |
- - Beve [wein] v 1] weo |©
- - Il ] e
1 Vi 5il S8 | Ei4 srepnssreansens

1

Page | 11



UNECE R80-ELITA 550 SINGLE

DWG. 2 - Seat marking and E-mark Sticker location

J’.’f )
/,

| 0000t o008 253
disBuciumeg
i

!

DETAIL A APPROVAL NUMBER
SCALE 1:1




